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No. of Questions ;: 120

(2) Blood Group (AB,0 & AB)
(3) Severity of pain
(4) Area of residence (rural, semi-rural & urban)

(3) Continuous (4) Diserete
03 Qumﬂ%ﬁ&mﬁhﬁw :
(1) Ple chart ' @) Plc:;'am
(3] Histogram (4) Bar diagram
Meanandw.dmnonmhemkedmtmlyﬁdatamon
(1) Intmval/muomﬂe (2) Nominal scale
(3) Ordinal scale
(4) Dichotomous scale
3
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05. Arithmetic mean of 10 observations is 25, but later, it is detected that
an observation of 24 was wrongly written as14. The correct arithmetic
mean of the sample, shall be : '

(1) 24.5 {20 25.5 (3) 26.0 (4) 26.5

06. Arithmetic mean {A.M.) and median of 100 items are 50 and 52

respectively. The value of the largest item is 100. It was later detected
that the largesi item which was actually 110, was wrongly written as
100. The true A.M. and median are :

(3 50.0 and 52.0 (2) 50.10 and 52.5
(3) 50.10 and 52.0 (4) 50.0 and 52.5

07. Monthly malaria incidence in a village in the year 2011 was 430,
500, 410, 160, 270, 210, 300, 350, 4,000, 430, 480 and 540. The
best indicator for the assessment of the malaria incidence in the

village will be :
(1} Arithmetic mean | (2) Geometric mean
(3) Harmonic mean (4) Median

08. Arithmetic mean of the weight of 100 children is 12 kg with standard
deviation of 3kg. The coefficient of variation {%6) of the weight will be :

(1) 25.0% (2) 35.0% (3) 45.0% (4) 55.0%

09. Root mean square deviation from mean is :

(1) Standard error (2) Standard deviation

(3) Mean deviation from mean (4] Variance

4
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10. Inamsaaocﬂomalntudymndﬂctedatacﬂnic.amcamheris

Interested to know what proportions of patients are having T.B. and

HIV patients | 'with T.B. With out T.B. Total
Posttive 16 4 20
Negative 24 456 480
Total 40 460 500

:u 160 em and 170 em (2) 138 cm and 192 om
L L e |
245mand205.5ﬂn| {4} 185 em and 175 om

(1) r=+lm-rl=-~1 2) r=0
3 r=05 o (4) |
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13. Simple correlation coefficient () between two variables X & Y is 0.63.

constant
All values of X as well as Y are multiplied by a non 2€ro :
(say, 6). The correlation coefficient between two new variables, will be :

1 0.63 (2) < 0.63
::3)) : 0.63 (4) Can not be calculated

14. When height and weight in a population are perfectly correlated, the
coefficient of correlation (r] is :
(1) =+1or-] 2 <-1
3 =0 4) >1

16. Degrees of freedom in a 4x4 Contingency Table for applying Chi-
Square test will be :
(1 4 (2) 8 3 9 {4 16

ermined and afier an

16. Mean Systolic BP of a group of persons wa; ;if o Szminmup an

intervention for one month, mean systolic e e
again determined. The statistical test to be applie

cance of intervention i3 |
?;fm::hi.sq:am test {2) Unpaired Student's t-test
(3) Paired t-test (4) F-test

eans are
17. In one way Analysis of Vartance, the underlying group m
declared significantly different : JNrS—
(1) If between group variability is small an
variability is large o
(2) 1f between group variability is large sfnd the _
variability is small |
(3) Kfbetween group variability is equ
(4) If between group variability is not
variability

al to the within group variability
equal to the within group
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The mean Hb level in healthy women is 13.5g/dl with SD of 1.6/dl
TheZ«SOmeﬁ:rammthHhMQflé.ﬂgfdlwﬂlbe:
(1) 9.0 2 100 @8 20 ° W Lo

Theequivnle:n__NmPnrancheatfor'pan:edt-wst'is:
(1) Sign Test (2) Wilooxon Signed Rank Test
(3) _Mamm.eyn-m (4) Median Test

» The mean of a sample 15 230 and the standard error is 10.0. The 95%

W'm of the mean would be :-
(1) 210-280 (2) 220-240
(3) 225.235 (4) 230-210

F@WMMNMmamndmmdmmem
.musimhaqamhmﬁ,z;ﬁo (with P > 0.05). Presume, in reality, the
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23. In a population of pregnant females, Hb (mg.%) is eqﬂmated on 100
womenwlthaSDoflmg%.Thestandardermrwﬂ]be:

(1) 1.0 2) 0.1 (3) 0.01 (4) 10.0

24. Which of the following is a parametric test ?
(1) U test (2) Student's t-test
(3) Sign test (4) Wilcoxon Rank Sum test

25. Specificity is related to : |
(1) True positive | (2) True Negative
(3) False positive (4) False Negative

26. In a population with 10.000 tndividuals, Crude Birth Rate is
36/1 GOO There are 5 maternal deaths in the population. The

Maternal Mortality Rate, will be :
(1} 365 2) 139 (3) 20.0 (4) 5.0

27. Denominator of the Crude Birth Rate is :
(1) Mid year population
(2) Total no. of deaths
(3) Women with child bearing age
(4) Total no. of eligibic couples
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28. le,soci&wmmnncstatusﬂ'the.mmﬂtyhbeﬁmﬂmdby:
(1) Infant mortality rate (2) Under 5 mortality rate
(3) Maternal mortality rate (4) Peri-natal mortality rate

29. An investigator wants to select 5% (1 in 20) sample of the houschokls
In a village, consisting of 100 households. He decides to select a
randnmnmberbeMenlnndMandthm.eveanOm
thereafter. If 13 was the person selected at random, then selected

sample would comprise of ;
(1) 13,18, 23, 28, 33 etc (2) 13,28, 33, 43, 53 etc
(3) 18, 38, 58, 73, 93 etc {4) 13, 28, 43, 58, 73 etc

30. Aninwmm-mdmwamdnmﬂmpletom.m
representation of men and women of the population . What sampling
meﬂmdwmldhe"une_? | | |

(1) Simple random sampling  (2) S?Itemﬂcnampung
3 Cluster sampiing (4) Stratified random sempling

31. E '
Agrwpafpubkhmlthpmswhhtbumtheprwalmof

9
| P.T.0.
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32, A person chose to conduct a study in a school, known for its
effectiveness as measured by the standardized test scores. For
selecting such a school, which type of sampling should he use ?

{1) Quota sampling (2) Convenience sampling
(3) Random sampling (4) Purposive sampling

33. Mortality Rate amongst patients suffering from a particular disease
was found to be 3/1,000. In studying expected no. of deaths from
this disease in a population of 10,000 of such patients, distribution
of mortality is likely to be :

(1} Normal (2) Binomial
(3) Chi-square (4) Poisson

34. In Binomial distribution : o
(1} Always, mean = variance (2) Always, mean < variance
(3) Always, mean > variance (4) none

S

35. In Multiple Regression Analysis, the number of dependant variables

should be :
(1) Two S (2) Three
(3) One (4) Multiple

36. For testing the sigmﬁca.l"lc& of difference amongst heig_hts of ﬁchoc:i
children in 3 socio-economic groups, the most appropriate statisti
test is :

{1) Student's t-iest
(2) Chi-square test
(3) paired i-test

{4) One Way Analysis of Vaiance

10
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[l? 2 [2&\\;3 | 3 4 4 5

L ) ‘ '!4“
; mammmmdmmmsmmgmm

were presesit fn 15 out of 100 cases and 10 out of controls
odds ratie (OR) for exposure is : ; S

(1) 15/1_0q | (2) (15/100}/(10/200)

(3) tlﬁ/ﬁﬁl{ (10/190) | 4 (15/100)/85/100)

O o e ek Ot
(1) * CI does not tnclude 0

(2) €1 tncludes 1

(3) Cl does not include any negative number
{4} Cl does not include 1

11
~ RT.O.
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4l. In an attempt to study the effect of two drugs in reducing the blood
sugar, an Investigator administered Drug I to the first half of the
patients and Drug 1I to the other half of patients. After noting the
responses, he administered the Drug Il to the first half of the patients
and drug 1 to the other half of the patients. Presuming that the gap in
the usage of the two drugs was sufficient to was out the effect of the
previous drug, the study design used above is known as :

|1) Cross-over design (2) Cohort study

(3) parallel design (4) Case control design

42. The screening results of a diagnostic test and the true disease status
are given in the following table in which letters a, b, ¢, d represent

numbers.

Screening results True disease status Total

of diagnostic test Diseased Non- diseased

b
Positive a b a+
' c+d
Negative C d
Total a+c b+d a+b+c+d

Here, {a+d)/ (a+h+c+d) is called :
(1) Precision {2) Accuracy

(3) Reliability (4) None of the above

12
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. Theumquefeawmnfthesumalanalyufbb:

(1) Analysis of variable witich is time to event

(2) Undﬂwmne'mewntvaﬂabkmalmmm
(3) Analysis of censored data

(4} End point is always death

+ The Kaplan-Meier estimates are used :

P ’ TﬁOa
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47. A clinical trial is considered double blind when :

48‘

49.

(1) Patients and investigators are blinded

(2} Patlents and outcome assessors are blinded

(3) Investigator and outcome assessors are blinded

(4) Patients, investigator and outcome assessors arc blinded

For a qualitative dependent variable (say, patients’' prognosis :
improved/not improved) with several independent variables (e.g., socio-
economic status, severity of disease, diet —groups etc), multivariate
analysis to be used to identify the role of indepandcnt. vanables‘.
contributing significantly towards the prediction of patients prognosis,
is called as :

(1) Factor analysis

(2) Logistic regression analysis

(3) Multiple linear regression analysis
(4) Cluster analysis

for a quantitative dependent variable (say, diastolic BP after treatment
in hypertensive patient) with many independent variables {e.g.. ag;;
height, BMI, serum cholesterol etc). the multtvariate analysis to

used to indentify the role of significant independent variables, 1s
known as .

(1) Logistic regression analysis

(2) Multiple linear regression analysis

(3) Discriminant analysis

(4) Survival analysis

14
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For lung cancer, if Odds Ratio (OR) amongst smokers is 4.3, compared

(o non- smokers, it means :

(1) Risk of lung cancer in non-smokers 15 4.3 times more than

(2) Rlskotlung_eanmmmamia 4.3 times more than non-
smokers

(3).. Risk of lung cancer in smokers is 4.3 times less than non-smokeérs

(4). Risk of smoking who did not have lung cancer is 4.3 times more

In a study of ability of rapid antigen test to diagnose strep pharyngitis,
S0% of patients with strep pharyngitis have a positive rapid antigen
test ftrue posttive), while anly 5% of those without strep pharyngitis,
have a positive test {false positive). The likelithood ratic for positive
(LR+) test for.the ability of rapid antigen test to diagnoae' strep
phyaryngitis is : '

(1) 5/90 @ 90/5 (9 10/95 (& 95/10

15 | P.T.0,
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53. A drug company is developing a ncw pregnancy test-kit for use in an
| out-patient basis. Company uses pregnancy test on 100 women who
are known to be pregnant and out of these 100 women, 99 showed
positive values, Upon using the same test on 100 non-pregnant
women, 90 showed negative result. The sensitivity of the test is :

(1} 90% (2) 99% (3) 10% (4) 100%

54. Ina clinical trial-comparing efficacy of new drug with that of a standard
drug, apartfmmthemugh estimates of efficacy with new as well as
standard drug from previous studies, estimation of minimum sample

size also depends on !
(1) Type I error alone (2) Type II error alone
(3) Typel & Il errors (4) None of the above

885. The Mann-Whitney U- Test {s also called :
(1) Kruskal-Wallis test (2) Wilcoxon Signed Rank test
(3) Wilcoxon Rank Sum test (4) Friedman's test

56. Registrar General of India is responsible for :

(1) Census

{2) National Family Health Survey
(3) Medical research
(4) Medical education

16
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87. In statistical literature data are broadly classtfied as interval scale
| @mmm-&mammwmmﬂhm
example for : A
(1) IHterval acale data (2) Ordinal scale data
(3) Nominal scale data (4) None of the above

B8. For a country a sex ratio more than 1000 means, country is ;

(1) Under developed (2) Developing
(3) Developed {4} Can't be decided

59. hammml-lﬁaumn}cum.theam.betweenzsnﬁ'omMﬂn
either side is :

{1) 68% T (2) o8
(3) 99% ‘ . (4) None of the above

60. Histogram is made for :
(1) Dichotomous data
(2} Ordinal data

-..'

61. I Hb level of healthy women has mean 13.5 gm% with SD 1.5gm.%
W_h.ntwuuldbetheZmibrammaﬂﬁth Hb level 15.0 gms6 7
(1} 1.5 2) 115 (3) 105 4) 1.0

e

17
P- Tn o.
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82. For a Gaussian distribution all of the following are true except :
(1) ' Mean, median and mode are same
(2) I can have two modes
(3) Bell shaped
{4} Mean+ 2Sd includes nearly 95% observations

63. For 70 smokers, the age at start of smoking was reported ranging from
15 years to 22 years with oply one person reporting 22 years. The

person starting smoking at age22yearswasrﬁmowdandwasreplaced
by another person starting smoking at age 24 years. This will change :

(1) Mean age at start of smoking
(2) Median age at start of smoking
{3) Modal age at start of smoking
(4) None of the above.

64. The range of regression coeflicient 1s :

(1) Between 0 and + 1 (2) Between -1 to + 1
(3) Between -1 100 | (4) Bevaen ~o0 tQ $oo

85. The HDL = a + b (calorie intake) + € (level of physical activity) is an

example of *

(1} Simple linear regression

(2) S‘;imple curvilinear regression
(3) Multiple linear regression

(4) Multiple curvilinear regression

18
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66. m.amhofmmmmwm:mthcm&ncm
level is 280 u/I and the SD s 18 u/l. The standard error of mean

would be ;' - _
(1) 280/18 2} 18/ 55
(3) 18/50 (4) 280/

e7. Uammmmmmmdmmmmu% to
3.7%, the chance that the prevalence could be less than 2.4 is :
(1) 10% |
2) 5%

- 68. Which of the following formula to calculate nfiden
of 800 o _ - i a co ce Interval of mean

(1) Mean +7 $p//n (2) Mean i7_sp/va
(3) Mean 37 SD*/Vn (4} Mean *7_ SD/n
69 mmmydmwngtypeﬂemrmmeemnt decides
(1) Pvalue (2)  Leve! of significance
(3} Power of the test (4) Nene of the above

(1) Unpaird t test ' (2) Wﬂcmnslmmnkﬁst
(3) | Mann Wh.itneytest (4) None of the above

1
8 P.T.O.

»
collegedu nia
o - India’s largest Student Review Platform

el



17P/211/186

71. If the probability to solve a problem by A is 1/2 and by B is 3/4 ,
what would be probability that the problem will not be solved ?

(1) 1.0000 (2) 0.3750
(3) 0.1250 (4) 0.5623

72. In rating the service provided by a waiter/waitress, the following
responses are possible : excellent, above average, average, below
average, and poor. The responses are coded from 1 to 5 with 5 being
excellent. These observations are on the :

(1) Nominal scale (2) Ordinal scale
(3} Interval scale (4) Ratio scale

78. The relative frequency for a class in a frequency distribution is
calculated by :

(1) Dividing the frequency of the class by the number of classes

(2) Dividing the frequency of the class width

(3) Dividing the frequency of the class by the total number of
observations in the data set

(4) Subtracting the lower limit of the class from the upper limlt and
muitiplying the difference by the number of classes

=4. Consider these three variables ; (i whether you are a SA citizen (1)
your marital status (iil) the time it took you to get to UCT this moming.

In the order given, these variables are : )
(1) nominal. interval, interval ' (2) interval, interval, nomin

: L
(3) nominal, interval, nominal  (4) nominal, nominal, nterva

20
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75. If three numbemx.y.zaresuchthai.x+y+z=98.x,:y:: 2:3 and
y:z::5:8. Then the average of x and z are : - '

(1) 30 2) 32 3 34 4) 39

78. lfawofﬁmmecuﬁvenumbenhm,wlmmnhethedﬂemm
between the smallest and the largest numbers ?
(1) 40 | (2) 140
8) 240 | (4) Data is insufficient

77. If-hoththémeanandmﬂameofﬁvegtmnumbersmwando
respectively are : _
(3] 10amd10 5 (4) Data is insufficient

78. Foi-arlyﬂnjtedlstrlbuﬂm. the most justified relation between standard

:;; ﬂ_ﬁ;ﬁﬁ (2) o2R/2
o=Ri2 " | -
g (4) ':r-n
79. Il P (A} = 0.7, P(B) = 0.6, then which of the following statements is
always true abopt P WB] . o
(1) 0.7 (2) 205
B) <05 4) 0.6

(1) 1257216 (2) 91/2186
(3) 215/216 (4 17218
%
21

P.T.0.
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81. The suitable formula for computing the number of classes Is :
(1) 3.322 logN (2) 0.322 logN
(3) 143. 322 logN (4) 1-3. 322 logN

82. A source note in a statistical table is given ;.
(1) At the end of a table (2) In the beginning of a table
(3) In the middle of a table (4) Below the body of a table

83. In a statistical table, column captions are called ;
(1} Box head {2) Stub
(3) Body : (4) Title

84. The headings of the rows of a table are called :
(1) Prefatory notes (2) Titles
(3) Stubs {4) Capt:lnns

monthl
85. The suitable diagram to represent the.data rf:latlng to the y
expenditure on different ftems by a family is ;'\
(1) Historigram (2) Historgam
{3) Multiple bar diagram (4) Pie diagram

86. The historigram is the graphical presentation of data which are
classified .

{1) Geograpﬁlcally (2) Numerically

(3) Qualitatively (4) According to time

22
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Cumulative frequency polygon can be used for the calculation of :
(1} mean (2) Median
(3) Mode (4} Geometric mean

" MM%MMHmumemMmemdaﬁon

r#m.-mmmwpmxmdywﬁm:

(1) -08 ' 2) 0
(3} 05 | (4) can not say

The ?'al?g we would predict for the dependent variable. when the
Mepmdmtmmhhsmanm;omismﬂed:

(1) Slope (2) Sum of residual

(3) Intercept (4) can not say

The[nedkxedmteofmpmmeofthédependmtmmmeto
. changes

in the independent variable is called :

(1) Slope | (2) Intercept

(3} Error | {4 Regression equation

-@e-indmm-mlable is also called :

(1) Regressor (2) Rcmss&nd

(3) Predictand | (4) Estimated

Regregaion coefficient 1s independent of

(1) Units of measurement (2) Scale and origin

(3) Both (a) and @) - (4) None of thege

23
a . P lTiOi
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93.

95.

If X = 0.75. then correlation coefficient between u = 15Xandv=2Y
is .

(1) o @ 0.75 (3 075 (4 1.543

On what is the width of the confidence interval estimate for the
predicted value of Y dependent ? '

(1) The standard error of the estimate

{2) Sample size

(3} The value of X for which the prediction is being made
(4} All the options are correct

In a study, the data was taken from the RBI reports. What kind of
data is this ?

(1) Primary

{2) Secondary

(3) Both

(4) Neither primary nor secondary

For fitting a regression line one uses the method of least squares
whichmmcaumofaquamddﬁfmccbetween:

(1) Predicted y and actual y
{2) Predicted y and mean y
(3) pre:dictcd x and actual X

(4) predicted tx,y) and(mean X, mean v)

24
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97. éﬂnplehnearreg'esmaninvnhfestheuaeofa: .

(1) single numerical independent variable to predict the numerical
dependent variable :

(2) single categorical independent variable to predict the numerical

*  dependent variable

(3) single numesicqgl independent variable to predict the categorical
dependent variable | )

(4) single categorical wdent variable to ct the

" 98. When using a simple regression model, extrapolating the linear

relationship between X and Y is acceptable under what conditions ?

{1) Extrapolation jsacceptable only when predicting Y using values
of X that are "above" the maximum value found in the sample
from which the model was derived.

(2) Extrapolation is acceptable only when predicting Y
dx&atmeﬂha“abwfth:gmqmumw“hg‘;‘ﬂlm

(3] Extrapolation {s acceptable only when predicting Y using values
: of X that are “below” the minimum value fnggd in ﬁsample

(4) Exirapolation is never acceptable

relal:lmghii;‘)? be-obw- bctwaen the residual valugp;nd

{Il-h,lftheﬂmrmodclisappmpﬁatefarthedata,ﬂ:mahnmm

(2) a statistically significant
' the

@ A mdemdy
(4 a moderately negative

25
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100.The Y intercept in a line represents the :
(1) predictedyatx=0
(2) predicted y
(3) variation over y axis
(4) estimated change in y against unit change in x

101. The slpoe represents :
(1) predicted y
(2) the estimated change in average Y per unit change in X
(3) predictedyatx=0
(4) wvariation around the line of regrwalon

102.5 cards are selected randomly from a well shuffled deck of 52 cards.
What is the probability of these 5 cards to be in sequence and from
the same suit ? -

(1] YCJ™C, (2) 40/%C,
(3) C,/7C, (4) ¢C,/%C,

103.What is the probability that a 5 digit number randomly formed by
using 0,1,3,5,7 (without repetition) is divisible by 4

(1) 0 (2) 1/5 (3) 5/16 4 1

104.Which of the following relations is always true for two random variables
X and Y with finite means :

(1) E [max (X,Y) < max [EX), EY)|
(2) E [max (XY)+min(X.Y)] £ max [E{X), E(Y)]
(3) E [max (X,Y)+min(X.Y)] =[E{X}+ E(Y)]

@) E [max (X.Y)+min{XY)] >[EX}: £

26
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108.For some data on varlate X, Pearson's coefficient of Kurtosis B; = 1
means :
(1) Xaaaumesonlyonevaluewith‘mﬂ;inty
(2) X assumes only equi-probable values
3) xmmmmebmmmmmw
_(4} mwm

: _
106.The maximum variance possible for a binofn.p) population is:

(1) np (1-p) (2) np
(3) n(i-P) 4) n/4

107. Ampmmmuﬁmhhmax 1 and x = 2, What is
the probalility tha¢ % will take value either 1 or 2 ?

(1) 2/¢* (2) 4/¢2
(3) 2/e* (4) 4/¢
108.For an exponential population :
(1) mean < median = (2) median < mean
{3) mean = median / 2 I4} allthethreearepossible

(1) Pie chart (2) Bar chart

27 P.T.0.
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111, Which of the following should be used to represent the previous
censuses of India :

(1) pichart (2) circular diagram
(3) Rectangular diagram (4) Simple bar diagram
112. Which of the following will be used to identify the average income of
an Indian :
(1) Histogram (2) Frequency polygon
(3) Frequency curve (4) Ogive
113.The mean of two numbers is xy. If one of these number is x then their
median is : |
(1) (Bxy - x}/2 (2) xy-x
(3) 2xy-x (4) xy

114. The mean of first three number and last three numbers of four given
numbers is 30 and 40 respectively. If last number is 50, then the
mean of first number and last number is :

(1) 20 (2) 25 (3) 30 (4) 35

113. The algebraic sum of the deviations of 20 observations measured from
30 is 2. If this distribution is symmetric then its median is :

(1) 15.1 - (2) 30.1
(3) 40.1 (4) Information is insufficient

116.Let a random variable X be normally distributed with a mean and
variance both equal to 100. The value of mean deviation about mode

is approximately equal to !
(1) 6 2 7
(3) 8 (4) Information is insufficient
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117. A random variable X has a normal distribution with the mean p=4. If
84% of the area under the curve lies to the left of X = 5, the area
belowx=31is :

(1) 84% {2) 34% (3) 16% (4) Zero

118.Let a random variable X be normally distributed with a mean and
variance both equal to 100. Then third and fourth central moments

respectively, are :
(11 (10, 30) 20 (0.30) . (3 (10,3000 (4) (0. 300)

llO.Fmasmmrdnmﬂvaﬂatex PX>1.96]i1s:
(1) 0.95 2) ‘05 (3) 0.05 (4) 0.025

120.Let. the random variable X follows an expbnential distribution with
mean 10. Then P(X >30)X > 10) equals : o

(1) 1-exp(-2) (2) exp(-2)
(3) exp(-3} 4 1/10
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ROUGH WORK
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ROUGH WORK
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